
− 25 −

Ea

a

a′
c′

b′

bc

・

Eb
・

Ec
・

解図 1



− 26 −



− 27 −

r

I

C3
V
3

解図 2



− 28 −

r1

I

r 3
V
3

解図 3

xc
r

I

3
V
3

解図 4

xc
xl

I

3
V
3

解図 5



− 29 −

Vca

Vab＝Ea

・

Vbc
・

Vbc
・

Ec
・

Eb
・

Vca
・

・ ・ a

c

b
60°

解図 6

Vbc
・

Vbc
・

Ec
・ Ea

・

Ec
・

Vca
・

Vab
・

Vca＝Eb
・ ・

a

cb

120°

120°
30°

解図 7



− 30 −

＝V′ ・

I
・

3
15

30
30°

6 000

315

Z

・Z

解図 8



− 31 −



− 32 −

Vca
・ Ec

・

Ea
・

Ia

j
j

j
・・

Eb
・

Vab
・

Vac
・

Vbc
・

I′

・Z

30°

j＝30°
35

5
10

解図 9



− 33 −

Ω

Ω＝　＝4

r＝0.5

R

V′＝

・I 3 3
12

Ω＝　＝3X
3 3

93
220

解図 10



− 34 −

＝0.4＋j0.2

・I

・

Zg
・

3

＝12＋j9

Zl＝0.8＋j0.7

Z・
3

EaV′＝・
・

3〔V〕

〔Ω〕
〔Ω〕

〔Ω〕

解図 11




